pp. 16-18, #1-21 odd, #31, #32, #31, #38, #49
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@ Th altitde o (in Feet) of o plane t minvtes aftec |iFtofF (s
gi\/eﬂ b)’ A = 3400t + (L0O. How Many miavtes afke Liftoff

is 4he plane b an altitude of 1,000 fect
A = 3400€ + OO
21000 = 34oot + 600

- 600

Qoqoo - ﬁo,?u;.e /H\C p\m\g W;“ reACL\ AN O\H'H'de-—

ot Qlooo T+ after 6 minotes.

B ey

£:6

2400

- 600




@‘-{(z+5)=3$2 @ 6 +5(m+1) = 26
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-15 = = (3+%) + H(x-b) 333 = %.0c - 23(b-2¢)
-15 = -1% -bx + Yx - 24 83.% = B.b¢c -Y3.8 + 14.6¢
-15 = -4Q -2« $3.% = 23.2¢ -43.§
+42 442 +Y43.% +43.%
23 = -dx 1276 = A3.de
g Bl 23.2 23.2

x = -13.5 C = 55

The sum of twice o nvmber E{el,\lr plus—Hu quo-hm{— of a

and \3 is 76. humbec ond 3 is —d.
let n = the number le¥ n = the number
An +[3 = 75 no_ o

~13 =13 _z T3 -%
2n = 62 L3 o
v - z =10

n = 3l n=-30

The nomber is 31,

The nomber is - 30.




Six times the sum of 0 numbec  let n = the Numbe -
and 5 is -4, é(ﬁﬂg) = -4n
on + 40 = -42
-0 -~ %0
on = -132
¢ ¢
n = =&AL
- - - -l
@ X —2(7-y)+4=-4 A \[)*q (
—14-2y+4=—4 -4+ +y= -4
—10 — 2y =i o 'l'Q\{ = -4y
—2y=6 + [0 + 10
y=-3 AN = o
4 2
When disteibuting, = - (-y) = +2y. y=3
X lx—2)+4=12 glx-2)+4 =12
Hx—2)=8 -lq’x -% + Y =12
X — 2:=42 \ =
x=4 -‘{_’x + a = 1d
-2 =3
= 2
Vis%;(w{z Berone CambiAins [I'lre terms, \ -4 1T .4
| - ac! ——x = A=
Follow Peppas’. 5 i
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What are the dimeasions ot the ﬂAﬁ 7

] Y+Y+%y+%y=150
y 5y = 150
1 5 S
| 2 ’ o 3 (2.) =
y = 30 -3"(3°>"15

The dimensions ate 30 inde s by 45 inches.

The perimctec oF the schoo Clossing sign is |0 inches.
What is the ltaath of fach side 7

Alste) # As + As = (0% s=16
As +1d +ds ¢3ds = (02 s =30
bs + 13 =107 St =dl

’@lz ) :ﬁ The side lengths ace

¢ o | 2,21,15,15, €30 inds,

S & 15

Find thiee consecutive even i/\l’eﬂers that have & sum of 54
Each pvea nombec is fwo More thas the Plovious even Numbe/.

let n = first even numbec n + (n+‘.'2) +(n +4) =54
then N+ Q2 = Second tven numbec

g nin+d+ na Yy = 5y
od n+Y = 4hd ewn number
3htb = SY
n=1b -6 ol
) = Yy
:1:%( 2 g The numbers ave 1b, I, 20. %‘_ =
n = lo



